
qm=;+= ljj/0f ljlgof]lht /sd s}kmLot

;8s tk{m 

1 7"nfa]zL–d:6yfg u|fdL0f ;8s :t/f]Glt 850,000.00   

2 d:6yfg–afUnLafª u|fdL0f ;8s dd{t 200,000.00   

3 d:6yfg–uf]b|] u|fdL0f ;8s dd{t 200,000.00   

4 km8\s]–vnfrf}/–n};/f df]=af= lgdf{0f 400,000.00   

5 vf]nfafª–hf8fufFp–tfdfvfgL–la;'Gw/f–/hj/f df]=af=lgdf{0f 800,000.00   

6 ;ltafª–sfkmnjf;–8'd]ufFp–lxn]–/hj/f df]=af= lgdf{0f 400,000.00   

7 ;ltafª emf]=k'=–d;fg3f6 emf]=k'= ;Dd df]=af= lgdf{0f 130,000.00    

8 ufpFvf]nf–dx]Gb| df=lj= uf]/]6f] af6f] lgdf{0f 30,000.00    

lzIff÷ljBfno tk{m 

1 afnhLjg k|f=lj= ejg lgdf{0f afUnLafª 300,000.00   

2 g]=/f= k|f=lj= hf8fufpF ejg dd{t 50,000.00    

3 hglk|o k|f=lj= sfkmnaf; $ sf]7] ejg Kfnfi6/ 40,000.00    

4 dx]Gb| df=lj= kmlg{r/ dd{t, O–xflh/L / nua's vl/b 100,000.00   

5 lzz' sNof0f k|f=lj= ufF8fkfgLrf}/ ejg knfi6/ 30,000.00    

6 hgHof]tL cf=lj= zf}rfno 6\ofª\sL lgdf{0f 50,000.00    

7 lzz' sNof0f k|f=lj=,uf}8]rf}/ ejg lgdf{0f 100,000.00   

8 jfn ljsf; s]Gb| pgforf}/ ! sf]7f e'FO{ 9nfg 15,000.00    

9 afnlhjg ;'wf/ k|f=lj=, vnfrf}/ # sf]7] kSsL ejg lgdf{0f 2,000,000.00  

10 afnHof]tL k|f=lj= e"MIfo lgoGq0f 50,000.00    

11
afnHof]tL cf=lj=, vf]nfjfË df l;d]G6, afn'jf sf] h8fg, Hf:tfsf] 

5fgf ;lxtsf]] @ sf]7] ejg lgdf{0f 500,000.00   

12 lzz' sNof0f k|f=lj=, ufF8fkfgLrf}/ # sf]7f e'FO{ 9nfg 70,000.00    

nlIft ju{

1 dlxnf tk{m –

s=xf]hLof/L tflnd 150,000.00   

v= dlxnf :jod ;]ljsfnfO{ k'/:sf/ ljt/0f / gf/L lbj; 20,000.00    

u= dlxnf kf7]3/ ;DaGwL :jf:Yo lzlj/ 30,000.00    

3= ;'gf}nf] xhf/ lbgsf cfdfnfO{ kf}li6s cfxf/f ljt/0f 30,000.00    

uf}d'vL ufpFkflnsf 

ufFp sfo{kflnsf] sfof{no

cf=j= )&%÷&^ sf] k|:tfljt of]hgf

j8f g+= $ -k'hf_
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ª= ue{atL dlxnfx?nfO{ cfof]g'g ljt/0f 15,000.00    

2 hghftL tk{m

s= pQL;] vf=kf=6\ofª\sL lgdf{0f 100,000.00   

v= gd'gf vf]/ lgdf{0f 25,000.00    

3 blnt tk{m

s= ljkGg blntx?nfO{ lkmN6/ vl/b tyf l;nfO{ d]lzg vl/b 150,000.00   

v= ;xef]h sfo{qmd 20,000.00    

4 afnaflnsf tk{m

s= afn ;~hfn / afn Snjx?nfO{ :6]zg/L ljt/0f 15,000.00    

v= h]x]Gbf/ afnaflnsfx?nfO{ k'/:sf/ ljt/0f 50,000.00    

u= afn ljjfx Go'lgs/0f ;DaGwL ;8s gf6s sfo{qmd 60,000.00    

5 h]i7 gful/s tk{m

s= h]i7 gful/s :jf:Yo lzlj/ ;~rfng 50,000.00    

6 ckfË tk{m

s= Rofp v]tL ;DaGwL tfnLd 40,000.00    

v= a]df};dL t/sf/L v]tL / 6g]n ljt/0f 60,000.00    

ljBt tk{m

1  ljB't nfOg lj:tf/ 150,000.00   

l;+rfO{ tk{m

1  ufpFkmf6f l;+rfO{ kf]v/L 100,000.00   

kz' tk{m

1 j8f sfof{no cf}ifwL vl/b 40,000.00    

cGo

1 j8f sfof{no kvf{n lgdf{0f 150,000.00   

2 j8f sfof{no vf=kf= dd{t 50,000.00    

vfg]kfgL tyf ;/;kmfO{

1 le/fn] 6f6\gLGo" k"hf vf=kf= 6\ofª\sL lgdf{0f 200,000.00   
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2 t[tL/] vf=kf= 6\ofª\sL lgdf{0f 250,000.00   

3 d':n] 7f]s|];f vf=kf= 6\ofªsL lgdf{0f 200,000.00   

4 ufpFkmf6f l;+rfO{ kf]v/L leq kvf{n lgdf{0f 63,000.00    

j8f sfof{nosf] em\ofndf uL|n tyf /+u /f]ug ;lxt ejg lgdf{0f  400,000.00   
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